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Ficheiro de Operações


Subtracções com decimais























Copia para o teu caderno. Resolve as operações.











 352,8 – 134,9 =          76 3,5 – 535,7 =           543,6 –  234,9 =























352,8 – 134,9 =          76 3,5 – 535,7 =           543,6 –  234,9 =


























352,8 – 134,9 =          76 3,5 – 535,7 =           543,6 –  234,9 =
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Ficheiro de Operações


Subtracções com decimais


























Copia para o teu caderno. Resolve as operações.











652,28 – 34,39 =       763,52 – 235,67 =          543,46 –  234,29 =























352,48 – 134,59 =       76 3,45 – 535,37 =       543,26 –  234,49 =


























352,38 – 134,59 =       76 3,25 – 535,37 =       543,26 –  234,49 =
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Ficheiro de Operações


Subtracções com decimais


























Copia para o teu caderno. Resolve as operações.














352,87 – 134,793 =     76 3,56 – 535,374 =       543,66 –  234,774 =























352,87 – 134,999 =       76 3,54 – 535,678 =     543,67 –  234,498 =























352,89 – 134,597 =       76 3,58 – 535,378 =     543,69 –  234,498 =
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Ficheiro de Operações


Subtracções com decimais


























Copia para o teu caderno. Resolve as operações.














 352,87 – 134,9 =       76 3,5 – 535,37 =           543,6 –  234,79 =























352,8 – 134,99 =        76 3,5 – 535,67 =         543,6 –  234,49 =


























352,8 – 134,59 =          76 3,5 – 535,37 =         543,6 –  234,49 =
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Ficheiro de Operações


Subtracções com decimais


























Copia para o teu caderno. Resolve as operações.








         347352,8 – 134,796 =             56776 3,5 – 535,637 =        














         73543,6 –  234,979 =              65352,8 – 134,998 =        














         6876 3,5 – 535,679 =            92543,6 –  234,495 =














        37352,8 – 134,593 =             8676 3,5 – 535,731 =        














                                  63543,6 –  234,873 =
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Ficheiro de Operações


Subtracções com decimais


























Copia para o teu caderno. Resolve as operações.











7352,8 – 134,796 =       776 3,5 – 535,637 =        543,6 –  234,79 =























352,8 – 134,998 =        76 3,5 – 535,679 =         543,6 –  234,495 =


























352,8 – 134,593 =         76 3,5 – 535,731 =        543,6 –  234,873 =
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Ficheiro de Operações


Subtracções com decimais


























Copia para o teu caderno. Resolve as operações.











         347352 – 134,796 =                 56776 3 – 535,637 =        














         73543 –  234,979 =                  65352 – 134,998 =        














         6876 3 – 535,679 =               92543 –  234,495 =














        37352 – 134,593 =                8676 3 – 535,731 =        














                                  63543 –  234,873 =
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Ficheiro de Operações


Subtracções com decimais


























Copia para o teu caderno. Resolve as operações.











         347352,8 – 765,996 =             56776 3,5 – 987,637 =        














         73543,5 –  764,789 =              65352,8 – 694,923 =        














         3276 3,5 – 587,654 =            92143,6 –  234,954 =














        37052,8 – 134,593 =             3676 3,5 – 985,731 =        














                                  63543,6 –  769,873 =
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Ficheiro de Operações


Subtracções com decimais


























Copia para o teu caderno. Resolve as operações.








         347000 – 134,796 =                 567000 – 535,637 =        














         736000 –  234,979 =                653000 – 134,998 =        














         687000 – 535,679 =               925000 –  234,495 =














        373000 – 134,593 =                867000 – 535,731 =        














                                  635000 –  234,873 =
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Ficheiro de Operações


Subtracções com decimais


























Copia para o teu caderno. Resolve as operações.








          456700 – 134,796 =                 567700 – 535,637 =        














         73500 –  234,979 =                  65300 – 134,998 =        














         687600 – 535,679 =               92500 –  234,495 =














        373500 – 134,593 =                867600 – 535,731 =        














                                  63500 –  234,873 =



































Ficheiro de Operações


Somas
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Ficheiro de Operações


Subtracções com decimais


























Copia para o teu caderno. Resolve as operações.














 7352,8 – 134,796 =       776 3,5 – 535,637 =           543,6 –  234,79 =























352,8 – 134,998 =        76 3,5 – 535,679 =         543,6 –  234,495 =


























352,8 – 134,593 =          76 3,5 – 535,731 =         543,6 –  234,873 =
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Ficheiro de Operações


Subtracções com decimais


























Copia para o teu caderno. Resolve as operações.














 352,8 – 134,979 =       76 3,5 – 535,837 =           543,6 –  234,759 =























352,8 – 134,979 =        76 3,5 – 535,647 =         543,6 –  234,749 =


























352,8 – 134,959 =          76 3,5 – 535,837 =         543,6 –  234,749 =














